Приложение. Карточки.
Этап:Устранение неисправностей в автомобиле
1-я группа
	1. [image: img1]0, 64 * 25
	ccc
	г) 0,4
	ccc
	к) 4

	2. [image: img1]25 * 16 * 0,36
	
	а)12
	
	о)1,2

	3. [image: img1]2500 * 49
	
	с) 3500
	
	р)350

	4. [image: img1]2 * O 18
	
	п) 9
	
	б) 6

	5. [image: img1]54/9
	
	ю) 21/3
	
	у) 12/3

	6. [image: img1]3 8
	
	т) 12
	
	р) 81

	7. 0,1 [image: img1](- 73) 2
	
	а) 7,3
	
	и) - 7,3

	8. [image: img1]4,8/[image: img1]0,3
	
	к) 0,4
	
	т) 4

	
	
	
	
	

	9. [image: img1]3 4 * 20 2
	
	о) 180
	
	а) 120

	10. [image: img1]1/11 * [image: img1]11/13 * [image: img1]13/25 
	
	р) 1/5
	
	с) 1/25

	
	
	
	
	


2-я группа
	1. [image: img1]0,09 * 0,25
	
	т) 0,15
	
	п) 0,015

	2. [image: img1]2,69 * 0,04 * 0,0001
	ccc
	о) 0,0026
	ccc
	и) 0,026

	3. [image: img1]3 * [image: img1]48
	
	ш) 11
	
	р) 12

	4. [image: img1]3 6/25
	
	м) 1 4/5
	
	л) 13/5 

	5. [image: img1]2 6 * 5 2
	
	а) 30
	
	о) 40

	6. [image: img1]( - 0,2) 6
	
	з) 0,008
	
	ж) - 0,008

	7. [image: img1]3/7 * [image: img1]7 * [image: img1]1/3
	
	а) 1
	
	ы) - 1



3-я группа
	1. [image: img1]9 * 36
	ccc
	н) 18
	ccc
	м) 16

	2. [image: img1]6,25 * 0,16
	
	о) 0,1
	
	а) 1

	3. [image: img1]2 7/9
	
	с) 1 2/3
	
	з) 1 1/3

	4. [image: img1]3 4 * 6 2
	
	о) 54
	
	и) 18

	5. [image: img1]( - 3) 10
	
	з) -243
	
	с) 243



Этап: Заправка горючего
1-я группа
	[image: img1]313 2 – 312 2
	ccc


2-я группа
	0,5 [image: img1]16 + [image: img1]400
	ccc


3-я группа
	[image: img1]900 – 2 [image: img1]25
	ccc
	

	
	
	

	


	
	



Этап: Гонки
	Старт:
	
	2 [image: img1]5 - [image: img1]45 + 2 [image: img1]20

	1. (3 балла)
	ccc
	- 64 + 5 [image: img1]49 + 10 [image: img1]25

	2. (6 баллов)
	
	9 – 4 [image: img1]2 + [image: img1]32 – 1

	3. (3 балла)
	
	(15 - [image: img1]2) (15 + [image: img1]2)

	4. (6 баллов)
	
	(21 + [image: img1]6) 2

	5. (3 балла)
	
	223 - 10[image: img1]36 - 4[image: img1]1600

	6. (6 балла)
	
	(8[image: img1]7 - 16[image: img1]2) (8[image: img1]7 + 16[image: img1]2)

	7. (3 балла)
	
	8([image: img1]7 - 2[image: img1]2)

	8. (3 балла)
	
	3[image: img1]5 ([image: img1]20 - [image: img1]5)

	9. (3 балла)
	
	(3 +[image: img1]2) (1 - [image: img1]2)

	10. (6 баллов)
	
	(1 - 2[image: img1]2) 2
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